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Inverse Trig Functions &

Composite Trig Functions Worksheet

Directions: Write the exact trigonometric value of the following problems.
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Notes: Right Triangle Trig 0co = L ‘q _
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Problem type 2: Finding trig values given a coordinate point (the constraint is the quadrant in which
the point is located!)

EX 1: The pnmt{’@L 21)@ on the terminal side of an angle in standard position. Determine the
exact values of the six trigonometric functions of the angle.
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You try: The point (-28, -45) is on the terminal side of an angle in standard position. Deterine the
exact values of the six trigonometric functions of the angle.
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Pronler type 3: Given a function value and an additional constraint
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/, constraint: 9 lies in Quadrant 2. {Find the other five trig values.
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